NG

T3 4

bRl
0 5

_"EHELWT%%@FE@%%
¥ B & 5 8 E 7
(%2 5)







B 1T

wH 3 FEmMFENRMEREERFNRFIHETE E25)

M 3FEEMFEN R RREREENRAOMETE (E25) & KicE
HBHETAITE D,

(AR T HOMIE)

FLR RARKTEORBEIRAREZTNTN 146 THEZEML., MARLT

HOREBEZRARBZNTN 137, 434 THET B,

2 BARHFEOMEDFKEDK ) KL FKKS & DOSEWM N IERE D%

AR TFEOSEIL. H1RIARETFERHE X5,

T4 2 A 24 HigH

HXAEAETE M 3



£ 1 & A B F E M E
A
= H
1 % M s B EFE R KRB
1 ® M s B FE KK B H
4 B A &
1 — #® = FH & A £
53 A & R




(Bpr . FF)

# 1E 81 © % E % gt
90, 017 1,529 91, 546
90, 017 1,529 91, 546
44, 385 AT83 43, 602
44,385 AT83 43, 602
136, 688 746 137, 434




1 #% % =4 it} E=¢

2 Y %

2 U EREERLRESMNMAE

1 RlEREERLERESGHNN &

op
it

A




(BT - TH)

i IE BT O %R E # &t
2,043 A46 - 1,997
1,170 A33 1,137
873 A13 860
132, 596 792 133, 388
132, 596 792 133, 388
136, 688 746 137,434




BOA R H @ E F OBE F OH OB OH M &
1 #& %
A
K W OE BT O %
1 % M o5 B & E E K B OH 90, 017
4 B A % 44, 385
B 136, 688




(A7 - FH)

* & i =
1,529 91, 546
A783 43, 602

746 137, 434




Bl
EE

K WIERTD%E W E %
1 % B = 2,043 A46
2 B H s B FEEERKIKR EZ &M & 132, 596 792

&
EE
op
my

136, 688 746




(B47 - FH)

s T % o o B W =
5t s & Bt " ] & %
EEXHE | # K & | = 0 B
1, 997 N46
133, 388 792
137, 434 N46 792




B A
X | FRIERTD%E f IE %8 Ha

S E ERRRE 90, 017 1,529 91, 546
1 BREEkEERRBR 90, 017 1,529 91, 546
1 B R R SRR 90, 017 1,529 91, 546
‘AL 44, 385 AT83 43, 602
1| —R&EitEAR 44, 385 A783 43, 602
1 EBEGEAE 7,812 A46 7,766
2 RBERLERAS 36, 573 AT37 35, 836




(BT - M)

X 4 & % woo
1 BESREE 1,5291001 HrBUBIN{REE 193
002 HEBBEUPURFEF 1, 336
1 EBERAS N46|001 EBREZEAS A6
1 RBREBEERA AT371001 HFRBREBTEZEAE AT37

&




3 0% W

m O E ®mM o M B’ AN &

x H WICRIOHE | ¥ £ 4 g ¥ ® M R -
EEZHE | W F & | £ D i )
1 BBE 2,043 A46 1,997 A48

1 BEEHEE 1,170 N33 1,137 A46 13

1 —EHE 1, 170 A33 1,137 A46 13

2 BN 873 A13 860 A13

1 BRI 873 A13 860 Al13

2 BHEKhE 132, 596 792 133, 388 792
B 7 [ S0
A4

1 Blishs 132, 596 792 133, 388 792
B 99 I a5
Bt &

1 BHEHE 132, 596 792 133, 388 792
RN T
A&




(B4 - T

X 4 - L
8 Ik b= A28] [900 —mEHEE] A33
= A28
BFE A ET A5 ERKkE A28
g B = FRABEUEER A5
B BB AR A5
u#s % % A13] 1901 #INEK] A13
"B A13
BEEERE 13
18 &4 . . wab 792) [902 #HEHEERENKESHASER] 792
) SO & AELSEHB RO NS 792

Rk A EE

792







